Ql

Q2

Q3

Hindi Knowledge & Writing Ability / & aRem= v ara= dvgan

o 1 8

(A) aFira—wa—aEdE
(B) sirfi—ureit—afirm
(C) HPRT—AeRT-ATYR
(D) TR R—ER

et 3 @iF— Haaarad gy &7

(A) afe auf arah g o woer N
aradt #rft

(B) @1 3w & areeht aut 26

(C) wwwrer aresfl &Y o aresr &

(D) ams! @ areh wwe &

Rl 1 wert WHEAN—TH 1826 w1 3

WE W wwIfr g e

(A) faeh
(B) W
(C) et

(D) w&T

SERIES-JPC-G

Q4 v e Swoad &), s @ g 9

Qs

AR Vg adg |

(A) HFTarEH
(B) Fteraras
(C) T=smamdas

(D) aHsTaTES

fyet & @i wn ar afarer &7

(A) amus garn fagnfeat & ue
TG AT

(B) armms 1 fagmidiai @1 ue
EECIN

(C) s + fagued w5 o
wgaETaT |

(D) Femae gar fAgaed § go

T 1T |

W R W @ Senv e wmE W
Ererr &7

(A) @oa
(B) @
(C) i

(D) e
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Q7

Qs

fad 3 Rwedl ¥ Rew wA @ R
weEl fawey 3arsyd | g iy
: S HEpA H I @

TET W |

(A) areiifas
(B) areriifa
(C) areHifas
(D) T

TR H FERT:

(A) @raril @ wErn { ERn # )
(B) SFRAR @ WEwmar § e &
(C) SFfmiae @ el 3 8 & |
(D) faem fassil & W= 9 8l 8 |

forer st @1 argane fpan o & 99
T E Y

(A) @
(B) @&y w1
(C) #FT A

(D) w2 ST

SERIES-JPC-G

PSG 1 wiger € e @ qwn & | 6 gHaen

Qlo

JEH PGB! A TS oA & | q®
I el HIe B, S SHeT e
e B | UR 98w S € ar |
B, O S 41 @) we @ A #
AR & ¢ e§l—aga aFien
WA AETD B — AR G e
# HfyAr si =ar S @1 e B 3R
A g8 AE 8 W G 8 8 an
ffdec & f i sigsn watergds shas
@i wee AT &, 9 g as T
e &)

ST T & RN 9 g6 |
ERIAT F AR B 87

(A) @H

(B) =TT

(C) BN

(D} draen
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Q1 e @ Hiel w @ 87

(A)

(B) T
(C) “iE®HR
(D) drger

Q12 Fo-HemN @ forg smwas &

(A) sl e
(B) anfeles wereisen
(C) Nrorfiftes e
(D) +iferes werm

Q13 uvga wIgaie & Wide am:
(A) SIwEel
(B) fes aa

(C) sifipr

(D) ST

SERIES-JPC-G

Q14

Ql5

Qle

A 7 e @ Reo wrE @ g
Sfga gerad @1y Sifn-

qferd @ a@E AR B |
(A) it &1 TRE

(B) sfer R

(C) 3/ & Tt

(D) 3™ &7 aml

Frafafiaa weal § @F-a v g @
v T &

(A) Farew
(B) WA

(C) gemax

(D) ARET

R T Rt § R ‘o @1 R

I

(A) #H

(B) N
(€) R

(D) wierat
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Q17

srraReomre o voen fw o) A
7

(A) TENER
(B) y=md
(€) gersiters
(D) i

QI8 wmen foen &1 v & — g9 g A

Q19

qren fen & @wew ®F W e favs
i

(A) ared fRm
(B) orga fawm
(C) dmia fore
(D) Fews fore

fR=f @ WRd B JOENY HE G

(A) 15 IR 1947
(B) 30 Si+adl 1948
(C) 14 RremwaR 1949
(D) 26 TR 1950

SERIES-JPC-G

Q20

Q21

Q22

Fefaftan =i & Sm—a g e
@7 gatgard #?

(A) ToTER
(B) wE@
(C) =wufey
(D) Fsay

W @ R AT e 87

(A) ©F
(B) @I
(C)

(D) =R

witreaf 1 ®F—ar guEt &7

(A) ufy

(B)

(C) wa
(D) wftes
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Q24

TR H yaR o v &7

(A) e
(B) aFEfeeam
(C) w&g

(D) <9

TSHl B H &7

(A) =R
(B) wnftraraes

(C) Wraaras

(D) wiEara®

WA @ AR R v fhu YR @
B &7

(A) =Y
(B) =
(C)

(D) i

SERIES-JPC-G

Q26

Q27

Q28

sfergaer e el 8-

(A) EXI e ¥
(B) T&Hm Uty #
(C) st +t ufem

(D) g us @ ey A

Frfafiag fmear & & @F w1 e

e I Wl e e e &7

(A) Ffee
(B) @

(C) =fe
(D) Fefs

T & AR R T e ueR &

a1 87

(A) =
(B)
(C) =R
(D) g
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Q29 WYY He Ut W fwe e owal A

fErg=n mfge?

(A) 3T

(B) uw foem
(C)y & dend
(D) =1 ferE

Q30 @i & quiny waw ¥ e i e @

Q31

qael e ¥ 9wy w87

(A) wd=mH

(B) fadrur

(C) R

(D) fFm fagmer

SR T0 @7 T W #7

(A) @
(B) i
(C) &=

(D) fsm

SERIES-JPC-G

Q32

fare gy H Wae Qe Iy B WAET
B9 87

(A) UHT FH AT T
(B) # e s e
(C) # ug @ =& o)

(D) ¥ @ @ i amar o)

Q33 wRn—fen gaR OF 1 e T

Q34

AN O SaRT g7 siarEs @ s
ifeg?

(A) e
(B) ¥r&Y WO
(C) HEY TEBR

(D) woTH
g R Gy |

(A) & 3RA rA HRA A

(B) &1 aWa AT AR A ga |

(C) ara @& &9 AT AR 3 |

(D) &9 R4 A ARG A
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Q35

Q36

Q37

Fr=fafan o=y A 9 @F-w e
gfeer 87

(A) HEeq
(B) W
(C) ==&

(D) wrel=

TEAT @ MEIR 9N g fier W @
B #7

(A) @I
(B) i
(C) =®

(D)

Y @ I - R e war
@ g &2

(A) U@
(B) &1
(C) @

(D) =R

SERIES-JPC-G

Q38

Q39

Q40

ael o AT g fador R wa
@ BN E?

(A) U@
(B) a1
(C) i

(D) =R

S—-A TE grA BI G aed gl

(A) weE—Rwm
(B) fewar—aen
(C) wear—edl

(D) amr—fewm

& & oad® B &7

(A) e
(B) w=redl awl
(C) =R

(D) A wEm
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General Aptitude Test /TG qheg TEwET0T1

Q41 “A-B means ‘Aisthe wife of B',
*A+B’ means ‘A is the daughter of B’
and ‘A+ B" means “A is the son of B'.

How is *S” related to U if *S+T+=U"?

{A) Mother
(B) Sister
(C) Daughter

(D) Grand-daughter

Q42  In a code language, if BEING is coded
as 25442, then how will HUMAN be

coded as in the same code language?

(A) 31314
(B) 11334
(C) 13134

(D) 41331

SERIES-JPC-G i

041

Q42

‘A-B* @1 el & A B @ ueh &,
‘A+B’ @1 3t & A, B @ gt & SR
‘A+B'@T 3l & ‘A B®T g3 &
R S4T U & &t S & UR @

e &7

(A) #i
(B) &

(C) g
(D)

W geaml #§ BEING @7 @ 25442 &,
o 39 AWl 4 HUMAN @1 @2 @

EFIT?

(A) 31314
(B) 11334
(C) 13134

(D) 41331
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(43 What will be the value of the following

expression if *+" stands for “addition’,
*+' stands for *subtraction’, *-" stands for
‘multiplication” and =" stands for
‘division™?

90 x5-7+3+4

(A) 98
(B) 101
(C) 125

(D) 136

What will be the value of the following
expression if *+" stands for ‘addition’,
*+" stands for *subtraction”, - stands for
‘multiplication’ and *=’ stands for
“division™?

G0=5-64+2+8

(A)58
(B) 62
(C) 66

(D) 72

SERIES-JPC-G 11

Q43 Al v w af A B v o onf
HEW B, < W 3 IO 3R w0 @
@l wEr &, o1 B @1 A @ ge?

Q0 =5-T7T+3+4

(A) 98
(B) 101
(C) 125

(D) 136

Q44 AR+ w1 el aApr &, v @ awef
e B Y W ARl qen 3R % @
el AP §, o Fr w1 a @ e

60%x5-6+2+8

(A) 58
(B) 62
(C) 66

(D) 72
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Q45

Q46

Q47

Select the option that is related to the
third term in the same way as the second
term is related to the first term.

Country : Prime Minister :: State :

{A) Governor
(B) Chief Minister
(C) President

(D) Chief Justice

Select the number that will come nextin
the following series.
31,37,41,43,

(A) 45

(B) 47

(C) 49

(D) 52

Manish is the brother of Nitin. Shanta is
the mother of Daya and the maternal aunt
of Manish. How is Manish related to
Daya?

{A) Uncle

(B) Cousin

(C) Father

(D) Nephew

SERIES-JPC-G 12

Q45 @g Raen gfe ot Gl ug @ o
weR wafowd B o weR e U
TS g W’

W WA el
(A) roEaTe

(B) Hwrl

(C) wrgufy

(D) Fw rEn

Pyt sioft # @y arelt serel e
g

Q46

31,37,41,43,
(A) 45
(B) 47
(C) 49
(D) 52

it Al @ g &1 e s @
& 3R = @ ARf/ A 8 | e @

Q47

w4 e 87

(A) i/ wr/ gt

(B) W1/ #iwn / v A
(C) e

(D) #ia
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Q350

Identify the mirror image of the word
RESISTANCE.

w HOVAT2IedsA
® KESI2LVUACE
© JOWTAcIes
©) K2I2V.LUCE

Identify the mirror image of the word

TELESCOPE.

@ H9020dIT
® J9002d.JdT
© JLETE2COBE
® JLI'EC20bE

Select the option that is related to the
third term in the same way as the second
term is related to the first term

.2 Sailor

Doctor : Stethoscope

(A) Compass
(B) Microscope
(C) Telescope

(D) Bioscope

SERIES-JPC-G

13

Q48

Q49

Q50

RESISTANCE g @1 gdwr wfafda
g |

»w JOVATZ2I2dA
B KECI2LVICE
© JOUTAZIeA

o) KeI2V.LUCE

TELESCOPE 31&= &1 =zdvp yfafda
auEnfg |

® J9020H3IT

® H9002dJIT
© LETE2COBE

® LI'EC20ObE

a8 fawen g o ey e d S gER
wafe e fore wor gEvr vs usd Tw
B

Ferfebeeren - oy AR
(A) ®HI

(B) HIFHIEH

(C) eferamy

(D) ariRS
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Q51

Q52

Select the number that will come next

in the following series.
4,9, 25,49,

(A) 98
(B) 101
(C) 121

(D) 136

In the given Venn diagram, identify the
group that represents Actors who are

Singers but not Engineers.

L

(A) A
(B) B
(C) C

(D) D

SERIES-JPC-G 4

Q51 et S0 3 s arell aprelt wie g |

4,9, 25,49,

(A) 98
(B) 101
(C) 121

(D) 136

fag e @9 smw A, 9w wE @
yeaifg it o7 sifviasl @1 P
e B W s e s
e B

Q52

Hiowar
)
¥t
(A) A
(B) B
) C
(D) D
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Q53

Q54

In the given Venn diagram, identify the
group that represents Electricians who
are neither plumbers nor motor

mechanics.

Q53 Ry v & s ¥ 9u WiE @1 wEafy
ol 9+ ol @ Fefi s
8 Wit A e B A e A |

— e ‘6‘ ~
g
o

(A) A
(A) A

(B) B
(B) B

(C)yC
(C) C

(D) D
(D) D

In a code language, ALMIGHTY is

coded as 95. How will MESSIAH be

coded as in the same codelanguage? BIT?

(A) 70 (A) 70
(B) 74 (B) 74
(C) 78 (C) 78
(D) 82 (D) 82

SERIES-JPC-G 15

Q54 va@ qEam H ALMIGHTY @ 952 95

21 59 W 4 MESSIAH @1 @e &1
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Q55

Given is a statement followed by three
courses of action, labelled 1, Il and I11.
Read the statement carefully and decide
which of the given courses of action
logically follow(s) from the given

statement.

Statement:
Alarge number of people die every year

by drinking contaminated water.

Courses of Action:

1. Government should immediately
provide financial assistance to those
affected.

II. People should be educated to use
clean water for consumption.

I1l. People should stop drinking water.

(A) Only I tollows.
(B) Only Il follows.
(C) Both I and 11 follow.

(D) Both 11 and 11 follow.

SERIES-JPC-G

I

Q55 9 v e 9wy 99 ka9

wé ¥ R L1 o 1 a AW R
T | T BT EFYEE T AR T
T [ Pl e / Frfamer &y
IQ F BT STEWT B &SR |

AR @, @) <o # it gt o 9
I W R #)

e

[ @R @ O e # Rl
HERI Wa &l mfey |

1. @ @ ewn @ o ge oI
&1 U H & fere i R
i i |

[, & @) e di 9 v o
=Ry |

(A) @hael 1 3reRor el &
(B) @@l 11 argeror Fedt 8
(C) 1R 1121 arpaRor @l &1
(D) 1 el 1M & s sl #)
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Q50 Given is a statement followed by three

courses of action, labelled 1, I and 11L
Read the statement carefully and decide
which of the given courses of action
logically follow(s) from the given

statement.

Statement:

A large number of people in Delhi are

suffering from dengue every monsoon,

Courses of Action:

I.  The municipal authority of the city
should take immediate steps
regarding prevention and control of
dengue during rainy seasons.

Il. Peoplein Delhi should move to
other cities during monsoons.

1. People should use mosquito

repellent during monsoons.

(A) Only Ifollows.
(B) Only Il follows.
(C) Both Iand II follow.

(D) Bath, 1, and 11 follow.

SERIES-JPC-G

17

Q56

8 v wer @ e A et §
g & R LI aiR @ e R
R | e w1 errgde 9 3R @
@ [ @il wriard / st 7y
TG T BT SRRV BT /Bl & S |

fReeh & vl A § 98 Hen |
s & @ AR B o E

Frdaay

I wER & Ruifers wiEan &
avere @ e A S At
i FPisor @ o Ra @es 9om
=1fe |

I, faeeh & @il @ avam @ des
# oy WERT B gl W AR |

T Wil @ W @ SR e 9T
Tqrel A IUART &R Ry |

(A) dael 1 sl Sl # |
(B) @ael [1 S HRe] @l & |
(C) 19d 11 €M1 srgerer @l # )
(D) 1 11 & s s &)
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Q57 Given are two statements followed by
two conclusions, labelled [ and 11
Consider the statements to be true even
if they seem to be at variance with
commonly known facts, and decide
which of the given conclusions logically

follow(s) from the given statements.

Siatements:

All doctors are saviours,

All saviours are great.

Conclusions:

I.  Some saviours are doctors,

II.  All doctors are great.

(A) Only conclusion I follows,

(B} Only conclusion I1 follows.

(C) Both the conclusions follow,

(D} Either conclusion | or conclusion

Il follows.

SERIES-JPC-G

I8

Q57 e &) gaaa] @ a8 Psed Be e

B o 1aiR 1L @ am Rar B
o wer s ezt @ e € wnar &
da o S0 W A, iR T aw
e/ W e R g seum @
o w9 9 SRR SR/ w0 B8 |

il fafdcas Wi 8|

il e wEE &)

e

. wo s Bfves 8
1. i fafecas wem &)

(A) daer P | srpever @ &
(B) dael fFyssd 11 sFpRmeor s # |
(C) &1 Feeped sFgaRer @l 8

(D) 41 ot Frssd 1o Fsd 11 s

T B
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Q58

Q59

Find the number that is different from
the other three.

131, 137, 139, 142

(A) 131

(B) 137

(C) 139

(D) 142

Find the word that is different from the
other three.

Whale, Crocodile, Tortoise, Frog

(A) Whale

(B) Crocodile

(C) Tortoise

(D) Frog

One cold winter moming, Radha came
out of her house to go to her school.
While opening the gate, the shadow of
the gate fell to her right. Which direction
was Radha facing when she came out of
the house to go to the school?

(A) North

(B) South

(C) East

(D) West

SERIES-JPC-G 19

Q58

Q50

Q60

g8 W s e ot aFg A @
=t &)

131, 137, 139, 142

(A) 131

(B) 137

(C) 139

(D) 142

a8 Y s @I S o i 9
st &)

(A) &7

(B) AT

(C) wgan

(D) #a®

wfdzi @ ve 3@s, e 9 @
R s e & an Pl | wres
e W, BEE @ Bl I6d &Y
ol | wae o @ for =Y 9 P
WAy e & 9 e e g en?
(A) wor

(B) =l

(©) @

(D) uf¥em
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Qol

Q62

063

General Knowledge / |G SN

Which among the following is NOT a
negative behaviour highlighted under
Virtue Ethics Theory?

(A) Gluttony
(B) Honesty
(C) Lust

(D) Sloth

As per Census 1951, what was the sex
ratio (number of females per 1000

males)in India?

(A) 926
(B) 936
(C) 946

(D) 956

On which river is the Srsaillam Dam

constructed?

(A) Godavari
(B) Krishna
(C) Tungabhadra

(D) Penna

SERIES-JPC-G 20

Q61

Q62

Q63

werar g @ e 9= 5 9 @
|l APREE GaER qu wE
&2

(A) e
(B) ZHFEN
(C) &g4

(D) e

1951 @ SEATYFT @ AR, WRA d
e s (WY 1000 gost @ few
wfEeTei @i i) @ er?

{A) 926
(B) 936
(C) 946
(D) 956

sivdter dwr frs 1<t o g=man g &9

(A) Memd
(B) Fwm

(C) gowan
(D) =R
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Q64

Q65

Q66

A person shall NOT be qualified for
appointment as a Judge of Supreme
Court unless he has been for at least
vears an advocate of a High
Court or of two or more such Courts

in succession,

(A) three
(B} five
(C) seven

(D) ten

Which among the following is NOT a

hindrance to effective decision making?

(A) Too much information
(B} Too lessinformation
(C) No Vested Interest

(D) Emotional Attachiment

1 gigabyte has megabytes.

(A) 256
(B) 512
(C) 2048

(D) 1024

SERIES-JPC-G 21

Q64 fafl afder &1 4im @ & @
=yranfie @ wu A Fafe & e gy
G 1 L B e e
e @ fer wem e @t
7 &1 A1 S G TR W SRRadH
¥ aditer 1 8T 8

(A) O
(B) ura
(C) @

(D) &9

frafefaa 3 & @ W wardl Fok
o ¥ e TEY &7

Q65

(A) ase 3ifds ST
(B) 980 @ WAFEHI
(C) wig Ffke wed =il
(D) AEATHS
Q66 1 Afrm arge H [ ey B
(A) 256
{B) 512
{(C) 2048

(D) 1024
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Qo7

Q68

Q69

How much was the annual per capita
income in Indiain 19477

(A) T249.60

(B) T349.60

(C) T449.60

(D) T549.60

Who founded the Kashi Vidyapeeth,

Varanasi?

(A) Purushottam Das Tandon
(B) Shiv Prasad Gupta
(C) RajaMahendra Pratap

() Swami Sahajanand Saraswati

Kushinagar is important for Buddhists

because Gautam Buddha

(A) was born here.

(B} attained enlightenment here.

(C) preached his first sermon here after
attaining enlightenment,

(D) died here.

SERIES-JPC-G 22

Q67

Q68

Q69

1947 # wRa # ufy @fdw @ aftes
sy faper ofi?

(A) $249.60

(B) ¥349.60

(C) ¥T449.60

(D) 7549.60

SR [RAganite, TR @ wrre fae
e

(A) geeicE g g
(B) Pra ware
(C) e 98 wemy

(D) Pl [EaHe TR

TRFR digl & fore Aeaql & wwife
e e

(A) 78T 45T 8¢ 9|

(B) & W&l s wrar e

(C) A ¥ Wi @ @ a1 WET I
uEen Iuaer fau e

(D) WEf ¥ 71g ey
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Q70

071

Q72

In which city the South Asian Regional
Conference on Urban Infrastructure was

held in November 20187

(A) Bangkok
(B) New Delhi
(C) Islamabad

(D) Beijing

In which city the regional meeting of the
World Customs Organization (WCO)

was held in November 20187

(A) Bangkok
(B) Jaipur
(C) Kathmandu

(D) Beijing

Which among the following is the first

step of T-step decision making process?

{A) identify the decision
(B) gatherinformation
(C) weigh the alternatives

(D) take action

SERIES-JPC-G 23

Q70

Q71

Q72

FagR 2018 § YRS AENTET FE W
it uftens el wetem e TEw
# apnfor R s en?

(A) d@TH
(B) =¥ faesh
(C) F¥TTam
(D) difsir

qagR 2018 H faw Aar yew e
(WCO) @ aeita o e wer 3 gd
efi?

(A) daiie
(B) STITR

(C) ®IEwIg,
(D) @ifdim

Fp=iferftaa & & @@ @, P o= a5
ufthar @ 7- TR @1 UEen weH &7

(A) Fof & weear @R
(B) Wil g@gT we

(C) Feq &1 g/ Hen
(D) wrdand) @

SET-07



(73  What will be the impact on Microsoft
Windows-based computer if you install

more RAM?

(A) Tt will operate slower.
(B) It will operate faster.
(C) It will operate the same as before.

(I2) It will stop operating.

Q74  As per Census 1951, what was the

literacy rate in India?

(A) 13.33
(B) 18.33
(C) 23.33

(D) 28.33

Q75 Uttar Pradesh is the largest producer

of

(A) banana
(B} muava
(C) mango

(D) papaya

SERIES-JPC-G

24

Q73

Q74

Q75

Ife o e W venfa g & o
AgmRite Aem—amEnia $ee W

@AT 3G BT

(A) m& &9 nifer | @y @ |
(B) ¥ dofl 9 w1 @ |
(C) s &l o &1 S |

(D) T8 TH B 98 DY S|

1951 @ SEEOFT @ SER, A 3§

WA g9 @ e?

(A) 1333

(B) 1833
(C) 2333

(D) 28.33

JER wew

FeqgE £ |

@ ey 48l
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Q76

Q77

078

Which is the largest copper ore

producing state of India?

(A) Rajasthan
(B) Jharkhand
(C) Chhattisgarh

(D2) Madhya Pradesh

How many projects were sanctioned

under Swadesh Darshan Scheme in

2017-187

(A) 26
(B) 17
(C) 7

() 11

What is the journey duration (in days)

for India leg of Shr Ramayana Express?

(A) 12
(B) &
(C) 16

(D) 21

SERIES-JPC-G 25

Q76 IR & HAH 9T AT Gre) ey Seurad

T W AT B

(A) TToTeeIrE
(B) SIR@vs
(C) BwEiRTe
(D) & ¥

2017-18 # WET &9 Ao @ aEa
fasert ufRaiorng o @ 7d?

Q77

(A) 26
(B) 17
(C) 7
(D) 11

At IETEYT TN & ARO—9s § e
aran @ aEfy fsas fReT o &7

Q78

(A) 12
(B) 8
(C) 16

(D) 21
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79 The central office of RB1 was located in

when it was initially established.

(A) Bangalore
(B) Pune
(C) Kolkata

(D) Mumbai

(80 What is the basic accounting equation?

(A) Assets = Liabilities — Equity

(B) Equity = Assets + Liabilities

(C) Liabilities = Assets + Equity

(D) Assets = Liabilities + Equity

SERIES-JPC-G

26

Q79 sdlang (RBI) @ wid v+ g2 o4

Q8o

FODT DA BT # fRere o |

(A) dels
(B) ot
(C) ®IeTwrRT

(D) Had

el erRgid wfiaRen Fn R?

(A) wufed = zem — sfaad
(B) sl = wafda + dam
(C) &en =<qufter + shEd)
(D) wufee = e + sfad
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